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Year 3 Maths  

Steppingstone activity  

Lesson 33 LO: To understand that ½ and 2/4 are equivalent  

1. To get one half, split into 2 equal parts and look at 1 of them. 

2. To get two quarters, divide into 4 equal parts and look at 2 of them. 
 

  

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

Model:  

Here is a delicious chocolate bar: 

 

 

Would you prefer one half ( 
𝟏

𝟐
 ) of the bar? 

Or two quarters ( 
𝟐

𝟒
 ) of the bar? 

 

Here is one half of the bar: 

 

 

 

Here is two quarters of the bar: 

 

 

 

They are the same amount! We call 
1

2
 and 

2

4
 equivalent. 

That just means the same. 

 

Now you try:  

Get two identical strips of paper, see 

what happens when you fold the 

strips into two equal pieces and four 

equal pieces. 

 

Compare one of the two equal 

pieces with two of the four 

equal pieces. What do you notice? 

 

 
 

Then have a go at the questions 

below: 
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Year 3 Maths   Lesson 33  

LO: To find fractions of amounts  

Success Criteria:  

1. Look at the denominator e.g. in 3/4  

2. Split the bar into the number of parts the denominator says e.g. 4 

3. Divide the amount equally between the parts 

4. Look at the numerator to tell you how many parts to count e.g. 3/4, so count how many in 3 parts 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Model: 

Sarah had 20 patches on her  

quilt.  

¾ the patches were blue. 

How many patches were blue? 

 

The denominator of ¾  is 4.  

So split the bar into 4 parts. 

 

Now share 20 equally between the 4 bars: 

 

 

The numerator of ¾  is 3. 

So count how many in 3 parts altogether.  

Now you try:                                                             

a) 3/10 of 20 = 

 

 

 

 

b) 3/4 of 12 = 

 

 

 

 

c) 2/3 of 18 = 

Model:Juliet’s hamster  

had 20 carrot sticks. 

He ate 3/5 of them.  

How many did he eat? 
  

The denominator of  

3/5  is 5.  

So split the bar into 5 parts. 

 

Now share 20 equally 

between the 5 bars: 

 

The numerator of 3/5  is 3. 

So count how many in 3 parts.  

 

12 

18 
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Year 3 Maths – Main activity  
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